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10t - gs60011 5510

ueoayeT asifle) efleoTnSser f%
. n(AxB)=6 wpmb A= {1,3} eeflé, n(B) spers =]
(=01 (=) 2 ()3 (FF) 6
A = {a,b,p}, B={2,3}, C ={p,q,1,5} erevfled, n[(AU C) x B] apevr&

(=) 8 (=) 20 (@) 12 () 16

A=1{12}, B={1234},0 =156 WHmIb D ={5,6,7, 8} ereufled
a&EMbESLILLL emeusafled erg Ffliimest snbHmi?

(&) (AxC) C (BxD) (@) (Bx D) c(AxC)
(8)(Ax B) C (Ax D) (7F) (D x A) C (B x A)

A =1{1, 2, 3, 4, 5} -eOlabibs, B erettm &ettiHH NG 1024 2 _meysar o _erars eresfled B -6d
2 eitell 2 Ml |&e6ifledT 61600160011 Hem &

(=p) 2 (B) 4 () 8

.x”) | x spyewE 1398 e89L A Senpeunss USH Setorseh | TeliD & peflsdt effsswonsm Sl
(=) {2.3.5.7,11]} (&) {4,9,25.,49.121} (=) {1.4,9,25,49,121}

(2 +24) wppeb (5.2a + b)) s esfllenss Cesmog=eh s assile, (a.b) ashug
(=) (2, -2) (=s) (5.1) &) (2.3) (=) (3, -2)
n(A) = m wppeb n( B) = nadhs. A -OnEs: B-4s aesaupdsinn’1 oauppu scconfdans
2 _peysafladt Cuonds TeiUTens KEaD &,

() m” (=) n»n™ (&) 2™ —1 () 27
{l’a.%"l.!’ﬁb_l J' SJyew £l QUS SFwesllé sy aefldh, awppib b vHAlsaTasT wepGu:
(=) (8,6) (=3) (8.8) (&) (6.8) (=) (6.6)

et A={L2.34} BE={4.8 9 10}aehs.smiy f - A — 5 sz
F={(L4).(28).(3.9).(4.10) } serd aasrpidsiu s 7 f -achum

() voapBOGEE QsfpIssnreas sy (=) swehi&d smiy

(8) garpdasnaTpresn sAFy () L smiy

= 1
fix) =2x" wppsb _ql'zl=T asfled [ og sseoig
3z

3 2 2 1
(=) = (=) == (=) ~ () o
F A — B sseorg SBouignd sty wphpeb n(B) = 7 ersofleb n(A4) sysorg
(=) 7 (=) 49 (&)1 () 14
f whpsb g D VoS STLEEHD
F={(0.1) (Z0).(3.—4).(4.2).(5.7) }
9= {(OL2).(LO).(24).(—4.2).(7.0)} o1& a=nmSsine’1 meb [ o 4 -7 sSds=wnsmgl
(=) [0,2,3,4,5} (=) [—4.1,0.2.7} (&) {1.2,3,4,5) () {0.1.2]
S(x) = 41 + =* essfied
(&) fxy) = f(x)-S{w) (=) f(xy) = J{=)-S(y)
() F(=w) = M=)y (FF) Beauyhaich Qe fcbemen
g={(L1L(2.3).(35).(4.7 ) }aehp shunmemg g9(x) = axr + 7 aso1d a=Engdsiazy sted
o whHEd Z-afisdt LWENLITeoTE
(=) (-1.2) (=)(2, -1) (W) (-1, -2) (/) (1.2)
S(x)= (= + 1) — (= — 1) a2 nb snyuTsoTE
(&) Gpous sy (=) Qus =& =iy (V) seoeoBps sy () @gsraq & sy
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aosHEsT b1l A = {1,3,5}, B = {2,3} aefl®d (i) AxB womib BxA-g &neos.
(ii) AxB = Bx A sy@wn? doameawefled ger? (iii) n(AxB) = n(BxA) = n(A)x n(B)

eTeuTd &Sl (h&.

giey A= {1.3,5} .B= {2.3} arenré a&n(b&&ILL (bETETEOT.
(1) AxB= {1.3,5} x {2,3} = {(1,2),(1.3). (3:2),:(3,3), (5.2), (5:3)} ---(1)
Bx A= {2,3} x {1,3,5} = {(2,1); (2,3), (2,5), (3,1), (3,3); (3,5)} «»(2)
(1) (1) wHmubd (2) -eor cweoond A x B = B x A gaemefled (1,2) = (2,1), (1,3) = (3,1)...
(ii1) n(A)=3: n (B) =2.
(1) womud (2) —eSlapha B snedorug, n (AxB) = n (BxA)=6;

n(A)xn (B) =3x2=6wom n (B)xn(A)=2x3=6
srarGel, n (AxB) =n (BxA)=n(A) x n (B) =6.
&Gal, n (AxB) =n (BxA) = n(4) x n (B).

5. A={1,2,3}, B={2,3,5}, C={3,4} vomib D ={1,3,5} erevfled
(ANC)x(BND)=(AxB)N(C x D) eretiug) 2_etoremolin ereor Ganléseyd..
7. Aeerug 8-m eflLé Gemmeuner Qe eretorsafleor &evord, B eretrLigy) 8 - L& Gemmeln et
uan eredorgeflenr &evord HMID C' ereitligy ST MLUILEDL L& eretordafledr &evorld ereufled,
S etorauhenmé Flunisbe.
(i) (ANB)xC =(AxC)N(BxC) (ii) Ax(B—-C)=(AxB)—(Ax0)
b 1.10

‘@enenw 2 _mey (Null relation) g

-

HetTaUBLD eT(b& SIS L& &([He&IEeunD.
T —

A ={3, -2-1} wppd B = {1,234} aefe, il =p, 1B)=g,
aefld, A wiGHa
B-&5 HemL &G
awngs 2 meyserfler
6T 6001 65011 & 610 & LI T 60T &
27 o3 BlD.

A-ems B-é&aner o_memel a-b = 8, acA, bEB, areon
aemIumssne, a-b = 8 ereimeunm embgeeunh (a,b)
Gamqujld Qeemen. sreor@ey, R —6) erhd 2 Ml Sedemen.
it wineormed R = ¢,

of 2 meled 2 MIOGET SN eTaTDNed g

Bettemlo 2_me)y ereorlILi(hD..
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5. @ fineersde o gelwnemisar (A) ewsdsise(C), Guenemisdr (M) wHmID
Bifeundlaen (E) apdlw preong difleysafled uemflwneniser o eteteri. A, C, M whmib E
difley vemflwumenisEnédg eaflwmged wenpGw 10,000, 25,000, 50,000 wHmb
31,00,000 0. A, A,, A;, A, vbmid A 86wt 2 gefwrenisear. C), C,, C,, C,
G ergdsiser. M, M,, M, s&8Gwniser Goeneniser. wpmub F, E, syAGuwni
B eundlaser eui. TRY eredtm 2_mefled T ereitug Y eTedTLaNREGS OSMbESHILLL e Sl
aafled R-eretim 2 _memey, aulflendd Ganu&eT coen&ayd bLUEG ULD cpedlongseyld
0 (WAIGY: 3

3. R eaaim @ 2 _mey {(;r.y)/y:.r +3, z€{0,1,2,3 4.5}} eTeoTd Q&M (b&SSILL (HETETg).

@s e WHILGGmHWD 6f55855mEULD &evoTL Mo
ThEHSSTLD 1.9 f(z) =27 z° aard asnbadslILL (baTaTs) erefle,
(1) f(1) (ii) f(z+1) (iii) f(2) + f(1) yHuaHEDE STEUTS.
giey (i) z=1 ereorl AT HulL Lmed,
f(1) =2)-() =2-1=
(ii) 2= o+ ereor) Ao &lull Lmed,

f(z+1) =2z +1) - (z + 1 #28%2 - (2 + 22+ 1) =—2* +1

(iii) f(z) + f(1) = (22 — 2°)+1=—2" + 2z +1
[f(z)+ f(1)= f(z + 1) erebTLIENSE SHnevoreonld. QlUNgIEUNS, f(a + b) Speors
fla)+f(b) -&@ swwns Smludeene]
8. f eem a&miy f(zr)=3-22 eer aOIUNSSILGADE.
f(z*) = (f(z))’ erevfled 2-2é Gnetons.
9. & efiwnerd 500 &5/ el BaussHle unédHma. efiomerd 'd' esnemeey AFHUSHE
24,&1D Bnegems T (emfluled) —eir nTUNSE GleuaflliLchS5)5.
ThEHHSHT G 11 A={1,234} womibd B ={2,581114} eeruer & &HOMAEET 6.
f:A— B eed gmiiy f(z) = 3z — 1 ererd &nbé&sUULbETeTg. @Fsmiflenerd a&meuor b
(i) =ubys@m ULD (i1) =i’ L euemevor

(iii) eurflemad Gamy safler &evorid (iv) euempuL D SFHwanHennd GlbHs
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SThSHHSHM(H 116 sLwelwed 6 EhEneflHer, OFTEnL eralbLGeneTd O\&HTeoT (b 6hEUTHeNL LI
o Wrsems (68 5L LIfleh) HevtrddlbAnTI&6T. seuiser aungeuns, h(b) = 2-47b + 54 -10 etedtm
gnfemu @&nH&L UWeTU(bSsIADTT &H6T. Qhi@, b pars aFTenL erabiileT HemomELD.
(i) h yere @TMIES QeTDNETST eTeord SHUNTES.
(ii) esnemL erabfeor Hamd 50 1.1 ereufled, ibG HUfledt 2_WITHMSHE Hetors.
(iii) muler 2_wimib 147.96 6516 ereufled, Ul OFTeML eTIDUIET HETHMNSE Hmetors.

giey (i) hypers @amés garmnarst aaréd Gendlés h(b ) = h(b,) aaré swmbas.
ereorGel, BLO&EGE SemLLIug),, 2 - -1'7"bl +54-10 =2- 4712_, + 54 - 10
2476 =2-47h, = b= b,
ereor@ey, h(b ) = h(b,) ereufled, b =b, pewHWND, HSE &l QOTMIES QOTMTET
FnTUn@GLD.
(ii) esnemL eraybifesr Hemb b = 50 61815 ereufled, SihG HLIF6T 2 WITOT TS
R(50) = (247 x50) + 54 - 10 = 177 -6 6515 2p&lb.
(iii) mufleor 2 wmb 147.96 a&15 erevfled, h(b) = 147 196 egnemL eraibllesr Hemomeor gy
2-47b+54-10 = 147- 96
9386
247

2 MBWINED, OFTENL erlbledT Hemoneng 38 61&.15 G

b = 38

5. f:N—=N aem &miy f(m)=m’+m+ 3 aer arunésiu’Lmd 25 Qambd
6EOTMMEDT &ML 6T60Td S (h&.
f:[-5,9] = R eretim snifunengy) etTeudblonml euenTLMI&SILIGSD S
6r +1; —5<zr<?2
flz)=152" -1 ; 2<z2<6 oear auOIUNGSILGADE eefled, HeTalhalaTeunhennd
3 -4 ;. 6<2<9

sneds. (1) FE3)4 A2 (i) A7) —FQ1) (i) 27(4) + £@8) (iv)ﬁf‘%’

yeluiitn] eflemaulledr @mpevonons ¢t eflemmgsafld 6@ OUNHET &SL&EGD &MIOTETS)

S'(t):%gfg—%a.t—l—b aTetd  QENbESIULbeTens. @hEG a b ydwenen pledlaen

(g 2yeora) Ueludiiiy ellengulledr &MTevonons enLbLD (WpbdsLD). S(t) 256018 QeTmI&HaSTTDITeoT
SMTUMEGLON 6T60T ST,
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ThSHHSBT(H 1.22 fo f(k) =5, f(k) =2k —1 erevfled, k -uledr HLIDHUS Snetors.

Siey fof(k) = f(f(k)) =2(2k—-1)—1=4k-3.
ereorG@ey, fof(k) =4k—3
34 EOTITED foflk) =5 ererd O&EMbESIUL (HETENg).
4k -3 =56 =>k=2
ThSHSHTH 1.24 f(z)=3z+1, g(z) =z + 3 pdwenes Qb FniysHeT. GLaD
gfflz) = fgg(x) arefled = —& Gnetora.
siey  gffa)= g [f{f (@)}
=g[fBz+1)]=9g[3Bz+1)+1]=g (%92 + 4)
g(%x+4)=[(92+4)+3]=92+7
fag(2) = flg{g (2)}]
=flg(z+3)]=f[(z+3) +3]=f(z+6)
f(z+6)=[3(z+6)+1]=3z+19
9ff(z) = fgg(z) erer@en, 9z + 7 = 32+ 19. @55E sweTun WL Siés T = 2.
flz)=2"—1 erefled (i) fof (ii) fo fof -m& eneors.

fR—=R womp g:R—R yersy wpeonGul, flz)=12°, ga) =42* ereon
amIUNGSILCLI®, f ¢ dLma RONGS QaODrerdt WOHNID fog QaTM&EES
EEDTMNEOT ENMTLIMGLON 6T60TM) SpIMiLIs.

& Weiabmis Gam_umiiqeinug, C(f) ereim e Coifw sbmy, C(at, + bt,) = aC(t,) + bC(t,) -
WSS eeiiding Gogud S a,b Sydene wniledlser ereufled, C(t) = 3t Syeral ey Cmifiu

SO 6TE0TS SHITL(H. E m E

muuﬂfr_ﬁaﬂ @MLDUILD

6-0 BBUY WHO 12-0 BBHUY g HUID LDHYO SHHBEO HAUNCD UL Far TBHHOUED.
TNPSC (Gr., II, IV) POLICE, POSTAL EXAM, RRB, SSC, BANKING Gunsirm Gumt'ipg BaiTayHEheanan aigLiyms manL aumBmg).

C\SITLITLSHS :
96598 38789, 99650 51223, 90427 53569, 99439 97169
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